Datei spiegel-anonym.eng

Programmierung I, Zug 2 in MB2 im WS 13 bei Prof.
Legende: {Punkte=Notenwert: 800=1,000 450=4,500 0=6
Sum='Summe ueber alle Aufgaben', NWert="rechnerisch
Sum NWert Note | 1| 2| 3| 4| Aufgabennumme
974 | 310] 450] 140| 74?| Aufgabengewic
MatrNr
2705,100 5,0]140] 113] 17| 0] 1. xxxx70
287 5,043 5,0| 84|203] 0] 0] 2. xxxx99
303 4,990 5,0]168|135] O] O] 3. xxxx72
326 4,913 5,0]140] 135] 51| 0] 4. xxxx28
365 4,783 5,0]168| 180] 17| 0| 5. xxxx78
404 4,653 5,0|168| 135| 101| O] 6. xx7x69

547 3,530 3,7|168| 270| 84| 25| 7. xx8x69

553 3,470 3,3|196| 248| 84] 25| 8. xxxx34
620 2,800 2,7 |168| 293| 101| 58| 9. xxxx79
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| Ab |gilt | Noten-
|Punkte|Note | haufigkeit
| 0 | 5’0 | Kkkkkkk

| 450 |4,0|

|515 | 3,7 |*

|550 |3,3|*

|585 | 3,0 ]

| 615 | 2,7 | *

| 650 | 2,3

1685 | 2,0 |

| 716 | 1,7 |

| 750 |1,3]

| 785 | 1,0 |

+ + +.
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| Aufgabennummer | 1] 2| 3| 4|

|  Aufgabengewicht | 310| 450| 140| 747?|

| Mittlere Punktzahl | 155| 190| 50| 12|

| Mittlere Abweichung | 23| 56| 37| 16|

| Mittlere Abweichung | 7%]| 12%| 26%]| 21%)|
[ ———— B R

Knabe, Nachklausur 2014-03-25, "4"=Ubungen max 74
,000}. Auswertung von 2014-03-28 13:07.

er Notenwert', Note='gerundete Note', '?'='nur
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wenn bestanden'.



